TEEEHFEENLIRRRFREEL
1. CAEE d=(12),b=(-2m), B da/b, M 2da+3b= ( )
A. (=2,—4) B. (—3,—6) C. (—4,-8) D. (—5,—10)
2. B M(=2,7), N(10,-2), i P R4 MN L, H PN = —2PM, ] P SR (
A. (—14,16) B. (22,—11) c. (61) D. (2.4)
3. O d=(1,-2), |bl=41dl, a/b, W b WEeR ()
A. (48) B. (84) C. (—4,-8) D. (—4,8)

4. CHIAE @ =(-12), b= (1,0), FamE 3b—a Bsbi2 ()
A (—42) B. (—4,—2) C. (42) D. (4,—2)

5. B d=(-13), b= (x,—-1), H da/b, W x %F ( )
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6. #+ A(3,—6), B(=5,2), C(6,y) —fttek, M y= ( )
A. 13 B. —13 C.9 D. -9

7. HHE d= (x,y), b=y, A avb, WFHERAR—EHIE ()

X X
A x1y1 —xy, =0 B. x4 —y1Y2 =0 C. y_i = y_z D. x1¥, —x2y1 =0

8. NI MES, TUMEARRNE ()

A & =(00) & =(=21) B. 27 = (46), & = (69)
— — — — 1 3
C. & =(2,-5), & = (—64) D. 2, = (2,—3), & = (5,—2)

9. 1A A(L,3), B(4,—1), W 5ME AB FJrAMEmEsR ()

A (3-3) 8. (5-2) ¢ (-33) 0. (-53)
10. WK, T4 04 = (41), OB =(1,3), & C /& AB =245, M oC= ( )
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